1- قيمة الوسط الحسابي 
م = ×ف 
م = 60 +  ×3 = 63,7    درجة    

2 - الوسيط =     ×ف
الوسيط = 61,5 +×3 =63,7 درجة 

                                     س-ص                
1 - المنوال= ل د +   ( ــــــــــــــــــــــــــــــــــ   ) × ف
                                  (س-ص)+(س-أ)            
                          
بالتعويض 
                                     17-10                
المنوال= 61,5 + (  ــــــــــــــــــــــــــــــــــ   )  × 3
                            (17-10)+(17-14)   
                                       7                   
المنوال= 61,5 + (  ــــــــــــــــــــــــــــــــــ   )  × 3
                                    7+3     
المنوال = 61,5 +0,7 ×3
=61,5 + 2,1
المنوال = 63,5 درجة 
